Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN |

Time: 3 hrs. \Q;.

\( \‘\

Note: Answer FIVE full questions, selectmg
at least TWO questions from each part

PART A
a. Define metrology.; ) (07 Marks)
b. Define metre in terms of wave length standard and emgn@rate the advantages of using

wavelength standard </ X \{\ v (05 Marks)

c. Four end bars A, B, C and. I) are to be calibrated usmg a callbrated length bar of 400 mm

'\

whose actual length is 399 999& mm. The bar B is long“er than bar A by 0.0004 mm, bar C is
longer than bar A by 0.0003-mm, while bar D is shor\ter than bar A by —0.0001 mm. The

four gauges together have a éo}nblnatlon length/of 4()() 0002 mm. Determine the corrected

(actual) length of each end bar.\. (08 Marks)
a. Write a short notes on:
(i) Interchangeability (i) Selectlyé, dssembly (10 Marks)
b. De51gn the general type Go and NO-Go g’ailge for components having 20 Hs/fg fit. Given
= 0. 45J_ D +0.00ID
(iv) IT, =16i
(v) IT, =25i
(10 Marks)
a. (06 Marks)
b. (06 Marks)
c. 37°16'42"
(04 Marks)
d. (04 Marks)
a. Illustrate the‘grmmple of Interferrometry with sketches. (05 Marks)
b. What is best size wire? Derive an expression for the same. (05 Marks)

c. With the ;he\lp of neat sketch, explain the method of determining the chor la \\thlckness of a
“ a o2} (10 Marks)

) PART - B
a. ,_E x ain with sketches : (i) Hysteresis (ii) Threshold (iii) Repeatability (iv) \Sensmwty
R (10 Marks)
.\,\Mentlon any five mechanical and five electrical transducer elements. (04'Marks)
c. With a neat sketch explain electronic transducers. (06 Marks)

a. Briefly explain Inherant' problems (any five) associated with mechanical intermediate
modifying system. (10 Marks)
b. What are X-Y plotters? With a block diagram, explain its working. (10 Marks)

1 of2




10ME42B

7 .';1 E‘(Nam with a sketch working of proving ring. > (0 'Marks)
b. Expia;n hydraulic dynamometer with a neat sketch. (06 Marks)
& E)&plam with a neat sketch pirani gauge. (08 Marks)
8 a. »the ws of thermocouples with sketch. (06 Marks)
b. DescrlBe *he construction and working of optical pyrometer. (08 Marks)

preparation and mounting of strain gauges.

N

c. Write a nQ te.0 n»

5

(06 Marks)
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